7/8 FLAT WASHER
7/78-9 HEX

LIFTING LUG
NUT
778-9 X 3° LG BOLY

7/8 FLAT WASHER
7/8-9 HEX NUT
LG BOLT

LIFTING LUG
7/8-9 x 3°

SHIPPING COVER
SEE DWG DV049-4-180
FOR DETAILS

1 DiA HOLES EQUALLY SPACED

SHIPPING COVER
SEE CHART

SEE DWG. DV049-4-180
FOR DETAILS

1 DIA HOLES EQUALLY SPACED
SEE CHART

(4) 174-20 X S/8° LG STUDS ll:
WELDED TO COVER AS SHOWN

j

1 /2 -

\ SIGHT HOLE CODVER
W SEE DETAIL ‘B*
n NOIE
W\ USE 2 PLYS OF 6 MIL
W POLYETHELENE TO SEAL

4

L GASKET OPENING

SEE NOTE 4 SEE NOTE 4
4* WIDTH OF
FoAM PAD-360°
WITHOUT GAPS
TYPICAL FOR ALL
SIZES

4° WIDTH OF
FDAM PAD-360"
VITHOUT GAPS
'[CAL FOR ALL

SEE DETAIL ‘A° SEE DETAIL “A°

SIZES
ASSEMBLY ASSEMBLY
F_MAT Al ART
HIPPIN VER COVER SHIPPING COVER BiLL lcover| cover | BOLT W

siz€ | 0D No | SIZE| 0D CIRCLE | HOLES | THK | VT

52 1/4* GIH | 44 |52 1/4°] sooo 24 | 37167 ] S0
S 1747 [3716° | !
seve e Jane] i
€8 1/2° G | 60 |68 1727} 6625 36 | 37167 8om
a0 174 G3H 72 80 174 78 00" 36 37167, 100%
‘r——_"—_—“
COVER
. 6 MIL CLEAN ONE-PIECE POWDER FREE e o 3" .
3167 THC AL. PDLYETHCL[NE SHEET TO SEAL OFF e 4) 5/16°¢ HOLES
FACE OF OPENING & FLANGE.
@ - @
378" THK. VOLARA POLYETHELYNE NDZZLE DR SHELL
FOAM SHEETING 4 3 i
CUT TO SUIT-CLEAN. |
\s MIL CLEAN DNE-PIECE POWDER FREE CF - - —
: 7/8°-9 x 3° LG POLYETHELENE SHEET TO BAG ENTIRE I
1. ALUMINUM COVER TO HAVE HEX BOLT NDZZLE ASSEMBLY. USE TIGHT BAND 12
P7N 202678 3 TO SEAL TO BODY OF NDZZLE OR SHELL.
DETAILL ‘g

VOLARA FOAM CUT T0 SUIT §.D/1D. AND 1° DiA

HOLES AS SHOWN ON THIS DRAWING.
SIGHT HOLE COVER

MATL- 37167 THK X 4° SQ AL-5086 OR EQUIV.

7/8°-9 HEX NUT
SCALE: 1/2

7/8° FLAT WASHER

2. CLEAN BEFORE SHIPPING, NO HYDROCARBON OR DIRT
CONTAMINATION ALLOWED. p/N 202581 3 P/N 202679 3
3 COVER SURFACE TO BE FLAT PRIOR TO INSTALLING FOAM. DETALL A° pST PART NO. V0494080P1
4+ VENDOR TO ETCH PSI PART NO. AND SIZE ON 1ypIcAl CLOSE DUT FOR
COVERS 3° IN FROM EDGE. SHIPPING_ COVERS.
FLAT FA AN -RIN FLAl
5. USE VORM DRIVEBAND & BUCKLE (ITEMS RI7 & 183 SCALE: 174
U TRAP FILTER CARTRIDGES TO MOUNTING BRACKETS.
H770355-0-V |
PROCESS SYSTEMS INTERNATIONAL_INC.
Wﬂmﬂn& PIMENSIONS ARE ¢ INOES 3 1 P M RNA“ON |‘N
1445 DOCUMENT CONTAINS PROFRIETARY TOLERANCES. 20 WALKUP DR. WESTBOROUGH, MASSACHUSETTS 01581 USA
INFORMATION BELONGING 0 PROCESS FRACTIONAL £ @
e S B el o g
USED DMLY FOR THE PURPOSE FOR D P B ae = 05 SHIPPING COVER ASSY 2
WRIDH 1T VAS SUPPLICD. IT SHALL NOT FINISHED SURFACE RS — WITHOUT FILTER ASS'Y a
X corica sceeonccs o8 CUERISE Frasen SEAE™ o R M :
fumisED W oL O B eaat 10 RCKOVE AL RRRE . EQUIPMENT N
TERNS OF Mir AGREEMENT UNDER WHICH DO NOT SCALE THIS DRAVING | 0 |ISSWED FOR FABRICATION : < 1 sAR | 2720797 | 0405 S
IT VAS SUPPLIED DR VITH THE PRIOR )U s ™ é Y CAD FILE Si7E | DVG. MO, .|~
T L P Lt e | VG NO. DESCRIPTION DWG ND. DESCRIPTION USED 0N REV DESCRIPTION THKD | DRUN | DATE | DEOW V0494080 D V049-4-080 0ls
T e s REFERENCE_DRAVINGS NEXT ASSYe JSSUE_DESCRIPTION semE e eeT Tor 1 2
{ 1

' < I . { 3 I 2



